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R 1 matlab BRECR I A N E R x5 B B R imhist, B
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FH 512x512 uint8 £ 512x512 uint8
1 2 3 4 | 1 . 2 | 3 | 4 [
1 137 137 137 136 | 1 255 255 255 255
2 | 137, 137 137 136 | 2 255 255 255 255
3 | 137, 137 137 136 |3 255 255 255 255
4 137, 137 137 136 | 4 255 255 255 255
5 | 137, 137 137 136 | 5 255 255 255 255
6 140 140 131 130 |6 255 255 255 255
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8 133] 133 129 132 | 8 255 255 255 255
9 | 129 129 133 133 |9 255 255 255 255
10 130 130 133 134 |10 255 255 255 255
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2. ERME
(1) E—ia

1.B 4R EE B 75 EF0 imhist X EE

[a,map]=imread(‘lena.omp’);
imhist(a)

title(‘imhist B 1 B 5 )

num=zeros(256,1);
[r,c]=size(a);
fori=1r
for j=1:c
num(a(i,j))=num(a(i,j))+1;
end
end



figure
bar(num);
axis([0,256,0,3000]);

title(" F L% R Him (X BT 1&°)

2 BRAITRETERK

function num = getnum(a)

num=zeros(256,1);

[r,c]=size(a);

fori=1lr
for j=1:c

num(a(i,j))=num(a(ij)+1;

end

end

end

SEREETTE (EEEN)

[a,map]=imread(‘lena.omp’);
num=getnum(a);
subplot(221)

bar(num);
axis([0,256,0,3000]);
title('lena’)
[a,map]=imread(‘lenal.omp’);
num=getnum(a);
subplot(222)

bar(num);
axis([0,256,0,3000]);
title('lenal’)
[a,map]=imread(‘lena2.bmp’);
num=getnum(a);



subplot(223)

bar(num);
axis([0,256,0,3000]);
title('lena2’)
[a,map]=imread(‘lena4.omp");
num=getnum(a);
subplot(224)

bar(num);
axis([0,256,0,3000]);
title('lenad’)

sgtitle( B A lena E 7 A"

4. MR R 5 {EFSEER IR E R X A

[a,map]=imread('woman.bmp"):%f& &5 &1 44 Bl AT

set (gcf,'Position’,[200,200,1000,500])
subplot(121)
iImshow(a)

title('Z&R 51 A )

g=ind2gray(a,map);
subplot(122)
iImshow(Q)

title(' ¥ i 4% N R )

gl=g;

g1(g1==255)=0;

figure

set (gcf,'Position’,[200,200,1000,500])

subplot(121)
iImshow(g)

title( F& I T FE 9 IR 1A'



subplot(122)
iImshow(g1)

title("2 51 T B E 2O 0')

ol

5 L HIRARSINESE

Wz il B 24 LI BT B B ehds B e]

[a,map]=imread(‘elain.omp");
g=ind2gray(a,map);
num=getnum(g);
subplot(221)

bar(num);

title('elain’)
[a,map]=imread(‘elainl.omp");
g=ind2gray(a,map);
num=getnum(g);
subplot(222)

bar(num);
axis([95,256,0,3000]);
title('elainl’)
[a,map]=imread(‘elain2.bomp");
g=ind2gray(a,map);
num=getnum(g);
subplot(223)

bar(num);

axis([0,156,0,3000]);
title("elain2’)
[a,map]=imread(‘elain3.omp");
g=ind2gray(a,map);
num=getnum(g);
subplot(224)

bar(num);
axis([20,42,0,15000]);



title("elain3’)

sgtitle( A% 5 1) elain E 77l

(2) E=|g]

WHE 7 B

[a,map]=imread(‘'woman2.bomp");
g=ind2gray(a,map);

gl=g;

num=getnum(q);

[c,r]=size(Q);

pro=num/c/r;

S=zeros(256,1);

fori=1:256  %>RAZHNT N [F] =

s=0;
for j=1:i
s=pro(j)+s;
end
S(i)=round(s*255);
end
fori=1:.c AT AR
for j=1:r
g1(ij)=S(g(ij)+1);
end
end

numl=getnum(gl);

subplot(221) % [&]

imshow(g):title(' )7 F")
subplot(222)



imshow(g1):title( Y247 5")

subplot(223)
bar(num);
subplot(224)
bar(numl);

(3) E=|g
1.BEENEELAE

%EL 7 I DL AT

[a0,map0]=imread(‘'woman.bmp");
g0=ind2gray(a0,map0);
numO0=getnum(g0);

[c,r]=size(g0);

pro0O=num0/c/r;

G=zeros(256,1);

fori=1:256  Y>RAFAR & 453 [n) &

s=0;
for j=1:i
s=pro0(j)+s;

end

G(i)=round(s*255);
end
[a,map]=imread(‘'woman2.bmp");
g=ind2gray(a,map);
gl=g;
num=getnum(g);
[c,r]=size(Q);
pro=num/c/r;
S=zeros(256,1);

fori=1:256  W%RAFAS e AR e v) =



s=0;
for j=1:i
s=pro(j)+s;
end
S(i)=round(s*255);
end
fori=1:c UFEAT AL
for j=1:r
s=3(g(ij)*+1);
[~,index]=min(abs(G-5s));
g1(i,))=G(index);
end

end
numl=getnum(gl);

subplot(231) % [&]

imshow(gO);title(F AR B
subplot(232)
imshow(g):title('f5 ULHC B 21
subplot(233)
imshow(g1):title('VLEL 5 K 2')

subplot(234)
bar(numO);
subplot(235)
bar(num);
subplot(236)
bar(num1);

2. AN REARR IR H AR E

%EL T FULAC 2



[a0,mapO0]=imread(‘'elain.omp");
[al,mapl]=imread('woman.bomp’);
[a2,map2]=imread('citywall.bmp");
[a3,map3]=imread(‘lena.omp’);

g0=ind2gray(a0,map0);
numO=getnum(gO0);
[cO,r0]=size(g0);
pro0=num0/c0/r0;
G=zeros(256,1);

fori=1:256  %=RAFAR K&IA5 e [m) &=

s=0;
for j=1:i
s=pro0(j)+s;
end
G(i)=round(s*255);
end

gl=ind2gray(al mapl);
gl_1=g1;
numl=getnum(gl);
[cl,r1]=size(gl);
prol=numl/cl1/r1;
S=zeros(256,1);

fori=1:256 %3R4 AR 4 AL i ) &=
s=0;
for j=1:i
s=prol(j)+s;
end
S(i)=round(s*255);
end
for i=1:cl 0t 47 AR 46t
for j=1:r1



s=3(g1(ij)+1);
[~,index]=min(abs(G-5s));
gl_1(i,))=G(index);
end
end
numl_l=getnum(gl_1);

g2=ind2gray(a2,map2);
g2_1=g2,
num2=getnum(g?2);
[c2,r2]=size(g2);
pro2=num?2/c2/r2;
S=zeros(256,1);

fori=1:256  W%=RAFAR e AR H v) =

s=0;
for j=1:i
s=pro2(j)+s;
end
S(i)=round(s*255);
end

for i=1:c2 063tk 4T A5

for j=1:r2
s=3(g2(i,))+1);
[~,index]=min(abs(G-5s));
g2_1(i,))=G(index);
end
end
num2_l=getnum(g2_1);

g3=ind2gray(a3,map3);
g3_1=g3;
num3=getnum(g3);
[c3,r3]=size(g3);
pro3=num3/c3/r3;



S=zeros(256,1);
for i=1:256  WRAFAL # &ALk 7] B

s=0;
for j=1:i
s=pro3(j)+s;
end
S(i)=round(s*255);
end

fori=1:c3 0933t 1T A%

for j=1:r3
s=3(g3(i,j)+1);
[~,index]=min(abs(G-5s));
g3_1(i,))=G(index);
end
end
num3_1=getnum(g3_1);

subplot(271) %I ]

imshow(g0):title(FH B
subplot(272)
imshow(g1):title( 7 ILAC A 1Y)
subplot(273)
imshow(g1_1):title('VLAC /5 B 1)
subplot(274)
imshow(g2);title( LA 2)
subplot(275)
imshow(g2_1):title('VLAC /5 B 21
subplot(276)



imshow(g3);title('FFILAC A 3"
subplot(277)
imshow(g3_1):title('LAC /5 B 3"

subplot(278)
bar(numO);
subplot(279)
bar(numl);
subplot(2,7,10)
bar(num1_1);
subplot(2,7,11)
bar(num?);
subplot(2,7,12)
bar(num?2_1);
subplot(2,7,13)
bar(num3);
subplot(2,7,14)
bar(num3_1);

(4) Mg

%=y 7 L 7 Pl B i

masksize=3;%7x7
[a,map]=imread(‘elain2.bomp");
g=ind2gray(a,map);

[c.r]=size(Q);
padding=floor(masksize/2);
pa=zeros(c+padding*2,r+padding*2);

fori=1:c Y%padding J& HIHLRE

for j=1:r
pa(i+padding,j+padding)=g(i,j);
end
end



gl=g;
fori=1lc
for j=1ir
num=getnum(pa(i:i+ masksize-1,j:j+masksize-1));
pro=num/masksize/masksize;
S=zeros(256,1);

for k=1:256  WRAZ X} N [\] &

s=0;
for m=1:k
s=pro(m)+s;
end
S(k)=round(s*255);
end

g1(i,))=S(g(i,j)+1): %4728 e

end
end
subplot(121)
imshow(g):title(' i K"
subplot(122)

imshow(g1);title(' Ja #3865 )

sgtitle(‘elain2 7x7")
% sgtitle('lena 5x5")

(5) EH|o]

1. EEXRE

% T SrE 2

[a,map]=imread('woman.bomp");



g=ind2gray(a,map);
[r,c]=size(Q);

gl=g;

g2=ones(r,c);

T=128; WkALWIME

TO=Inf;
while(TO>=1)
partl=find(g>T);
part2=find(g<=T);
suml=sum(g(partl));
sum2=sum(g(part2));
meanl=suml/numel(partl),
mean2=sum?2/numel(part2);
T1=(meanl+mean2)/2;
TO=abs(T-T1);
T=T1,
end
fori=1r
for j=1:c
if (9(i,))>=T)
g1(i,j)=255;
else
92(i,))=0;
end
end
end
figure
subplot(121)

imshow(g2);title("7> X1 (FI AR )
subplot(122)
imshow(gl)title( 7 #I455% CER=NED )

num=zeros(256,1);
[r,c]=size(Q);



for i=1r
for j=1:c
num(g(i,j)+1)=num(g(i,j)+1)+1;
end
end
figure
bar(num);

title('woman E.J7 ")
line([T,T],[0,140000],' color’,'r",'linewidth",2)

2 HECEEBHE

% 15 E

left=117;

right=160;
[a,map]=imread(‘'woman.bmp");
g=ind2gray(a,map);
[r,c]=size(Q);

gl=g;
g2=ones(r,c);
fori=1r
for j=1:c
if (g(i,))<=right)&&(g(i,j)>=left)
g1(i.j)=255;
else
92(i,j)=0;
end
end
end
figure
subplot(121)

imshow(g2):title('73 X3k (A AHE) )



subplot(122)
imshow(gl):title( &5 B (= AA) )

num=zeros(256,1);

[r.c]=size(Q);

fori=1ir
for j=1:c

num(g(i,j)+1)=num(g(ij)+1)+1;

end

end

figure

bar(num);

title('woman E.J7 ")

line([left,left],[0,140000], color’,'r",'linewidth’,2)
line([right,right],[0,140000], color’,'r",'linewidth’,2)



